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SN

=
=
Bl Al
Ak
=

el A A £ CERE
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
= 700
Al 300
405 XtaHFESHI 10,000 0 10,000
01 RAUSEFHSY 10,000 0 10,000
=04 10,000 0 10,000
OCHEALAT Tl 8#ZS2984 28 3
ol 10,000,000 *14! 10,000
Mo o2 A 29,180 36, 140 6,960
201 sty 17,550 19,070 A 1,520
01 At 2r2lt| 17,550 19,070 A1,520
=004 17,550 19,070 A1,520
OzHAl NHBAAR Molgis &ML
o 100,000 20 *13] 2,000
O&®Al NHLHAR HYAN HE
30,0008 ¥50! * 1] 1,500
OBAMTAN TE 4= 2
50,0002 *52 250
OE2A4 H2) dg2 U HIY ZE 28
100,000% *3CH * 12 3,600
OBAYH YR S2HAY)
8,0008 *52§ * 102 * 122 4,800
OMBA SZFY L 472 28|
300,000 122 3,600
OHANABY 42F 22 150,008 *128 1,800
202 OfHl 4,080 4,320 240
01 2ol 4,080 4,320 A240
=04 4,080 4,320 A 240
OSA YA &S &N
60,0001 * 102 x22 1,200
ONeE2A0 2 NS L WU &4
60,0002 4% +63] 1,440
OXeE2o2 HEX 228t
60,0002 62 +43] 1,440
203 YREY 5,000 5,000 0
03 ANHZZHLEZY] 5,000 5,000 0
=0 5,000 5,000 0
OXLEAMNY HREE  5,000,0008! *1A 5,000
301 LsBAD 300 600 A300
09 BAAHIEAS 300 600 A300
=0 A 300 600 A300
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S AN
Bu: ARIOl MES AACA(RA/PAR)
ol 4DNES ATMEBEA X4 el a e
M- 8. ool ( A A - Ba= ggi) @(LJME;L%% =2
OBAHoY D AT 24
50,0002 *6H 13| 300
303 A2 500 400 100
01 ZAZ 500 400 100
= 0ff &F 500 400 100
OEHH » A= 12
50,000& «10H 500
307 QIz2tol & 1,750 1,750 0
01 9= 1,750 1,750 0
= Ol & 1,750 1,750 0
OSSN e o235 22
1,750,000& 14! 1,750
e AAS T Al = 1,098,911 1,162,642 AB63,731
= 117,310
Dl 109,669
== 79,484
Al 792,448
AAas2e 497,517 547,415 N 49,898
101 ol A H| 240,301 242,767 N 2,466
04 JIZtHIZ22 XS 240,301 242,767 N 2,466
= 0ff & 240,301 242,767 N 2,466
OBAHA gt ASs so(8AHA) 17,261
—-Jl23 69,950& x 1Y 232! 8 & 12,871
—S=5 69,950 x23 x1H 1,609
—=30dH3 12,871,000& *4 .5% 580
—H2LEE 12,871,000& *3.12% 402
—NEEE 12,871,000& *1.5% 194
—MHEE 12,871,000& *0.8% 103
— &I 402,000 x7.38% 30
— OH A 8,000& x23 x8& »1H 1,472
OBAHA gaHAs 01822 (SHSE) 223,040
i ==1 69,9503 x23L x4 & x25H 160,885
—-—S2=5< 69,950 x232 x25H 40,222
— =043 160,885, 000& *4.5% 7,240
—2AHUEE 160,885, 000& *3. 12% 5,020
- 188E 160,885, 000& *1.5% 2,414
—MHEE 160,885, 000& *0.8% 1,288
— IR 5,020,000& *7.38% 371
— OHALH] 8,000 7 42l x25H 5,600
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By Al
PN}
=2

Ehel Jl (o2&
x s . 0 & o rSRER Page -
SA B S(BH) - MEMY - BES iz BT BlRE2
201 et 4 38,060 27,510 10,550
01 A2l 20,420 11,290 9,130
= Off & 20,420 11,290 9,130
OotH Y S A 8,000& x3H 110 2,640
Og9dy 4288 +¢ 20,0002 1004 2,000
O8Y% 17HA 29XE gdXE s
900,000 *17H 2 15,300
OSds YA sz M
12,000& »40& 480
02 =524l 17,640 16,220 1,420
= Off & 17,640 16,220 1,420
OogaFEd ¢ g =2t
50,000& x100CH 23] 10,000
OAMMHSELEI RANE>
38,2003 x200CH 13 7,640
202 o4l 3,600 2,700 900
01 =UWAHYI 3,600 2,700 900
= Off & 3,600 2,700 900
Oggas AR 0Hl 60,0003 *3H 8L 1,440
OXBY YALS AAE L TS
60,000 *3H 83| 1,440
Od&d &g L& A
60,0003 *3H %43 720
203 YR 2,000 3,000 21,000
03 AHM=XHRFAH| 2,000 3,000 A 1,000
= Off & 2,000 3,000 A 1,000
OYgIALA=AMY SR =& 2,000,000 x 141 2,000
206 M=l 193,556 208,358 A 14,802
01 M=l 193,556 208,358 A 14,802
= Off & 193,556 208,358 A 14,802
Oggasass 22 141,756, 000& 14 141,756
Oggars RFH 3,500,000& x12& 42,000
OKRZEFME 01F2X 2L 44,000 200kg 8,800
ORs7HE ¢5% #2 5,0002 *200H 1,000
405  XHaHH SHI 20,000 60,080 240,080
01 XA 2EFHSHI 20,000 60,080 240,080
= Off & 20,000 60,080 A 40,080
ORdols =8I +¢ 500,000& »20CH 10,000
OogadAr=s FHl 2¢ 500,000& »20CH 10,000
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SA 2D
A0l BEs AL A(BEH/BAHAZ)
el HEols A2AB CAl 9SD) CER-E
SH-EH. (AN NRANY - B o) ) HDE2
Ofllz2a s A432ZY ol HeEsSH
& 25,0002 * 1004 2,500
OZgd Mg &AEM 2 5,000 6004 3,000
405  RhAHHE S 1,000 1,000 0
01 XA&LSSFHSHI 1,000 1,000 0
=0 &t 1,000 1,000 0
O&As)| 7Y 500,000 =2CH 1,000
HEDJIOHO 28y ol ae 9,200 9,000 200
J| 4,600
= 4,600
201 et 4dH| 4,100 4,000 100
J| 2,050
=~ 2,050
01 At 2eltl 4,100 4,000 100
| 2,050
= 2,050
= 0l & 4,100 4,000 100
J| 2,050
= 2,050
OXEDIN Z2EE o 228 74 S
2,050& *1,00004 2 4,100
Il 2,050
& 2,050
307 QIz2tol M 5,100 5,000 100
J| 2,550
= 2,550
01 22 =Hl 5,100 5,000 100
| 2,550
= 2,550
= 0l & 5,100 5,000 100
J| 2,550
= 2,550
OXEDIDOF 228 ol JITM 2
1,700& 3,000 5,100
Il 2,550
& 2,550
2 EYE XTI LAANS 142,972 111,072 31,900
= 15,000
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S AN
HzH: AQIQ] #=2s AU A(BEAH/EAHZ)
Ciolr AEYE AL CAl BSD CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
Al 127,972
101 [Slals] 30,000 22,000 8,000
== 15,000
Al 15,000
04 JIZtHZ2Z2XNSE =+ 30,000 22,000 8,000
= 15,000
Al 15,000
= 0ff A 30,000 22,000 8,000
== 15,000
Al 15,000
(OPIE=3=1 67,340 18 %232 x 124 & 18,586
= 9,293
Al 9,293
Oxg=xg 67,3403 *1H x4 L x 124 & 3,233
== 1,616
Al 1,617
O=01d= 18,585,840& x4 .5% 837
== 419
Al 418
OHLES 18,585,840& *3.12% 580
== 290
Al 290
(@E=3-4--1 18,585,840& *1.5% 279
== 140
Al 139
OMES 18,585,840& *0.8% 149
== 75
Al 74
O&IAYEE 576,880 x7.38% 43
== 21
Al 22
OEESE= 67,340 *30L x1H 2,021
= 1,010
Al 1,011
Ot =22z HA=EH0YI
57,000& x5! 8 & 2,280
== 1,140
Al 1,140
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el
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1212

& E 0 A oA
(J1EH)

Bl

0
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2 2USEH

16,6002 x 122 103 x 1Y

In

Al

1,992
996
996

7,932

7,932

NS

& X el

400,000 *23]
211,000& 128

100,000& =16CH

.
=9

1,000,000& *33l

3,332
3,332
800
2,532
1,600
1,600
1,600
3,000
3,000

3,332
3,332

1,600

1,600

3,000
3,000

60,0003 *3H *23]

60,0003 x2F 2

60,0003 x1H 5
60,0003 x2H *23]

300
240

103,900

80,000

23,900

OZctoICIOoF S ALAI S

al

=

D DN YN B

63,900,000& * 14!

I ¢

40,000,000 14

103,900
103,900

63,900

40,000

80,000
80,000

23,900
23,900

o

22 A A X

oW

12,705

4,449

e
e
H
it

A

12,705

4,449
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SA 2D
A0l BEs AL A(BEH/BAHAZ)
el HEols A2AB CAl 9SD) CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
301 detEaz Al 4,289
01 MIBEHEE=SHS3 17,154 12,705 4,449
= 8,577
= 4,288
Al 4,289
= 0l & 17,154 12,705 4,449
= 8,577
= 4,288
Al 4,289
O otetaiol MAHl K& 1,906, 000& x9H 17,154
= 8,577
& 4,288
Al 4,289
starel mioi Ak Tiai A+ Xl & 5,400 5,400 0
= 5,400
301 gLEtEAZF 5,400 5,400 0
= 5,400
01 AEEESHS 5,400 5,400 0
= 5,400
= 0l & 5,400 5,400 0
= 5,400
OStHQIImoi At M&X23 X
150,000& »3Y *123] 5,400
= 5,400
stMlZ AL o= Hl XI& 5,000 5,000 0
307  glztol A 5,000 5,000 0
02 QIZBAAMNIEXR 5,000 5,000 0
= 0l & 5,000 5,000 0
O otstael ozl Xl
50,000& x10¥ 103 5,000
Ol Ol = &IEHAIY ¢ 5,576 6,578 21,002
J| 2,788
Al 2,788
307 gIztol ™ 5,576 6,278 AT02
J| 2,788
Al 2,788
01 A=Y =4l 5,576 6,278 AT02
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SA 2D
A0l BEs AL A(BEH/BAHAZ)
el HEols A2AB CAl 9SD) CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
01 dz2H =4l | 2,788
Al 2,788
= 0ff &F 5,576 6,278 AT02
J| 2,788
Al 2,788
OulolE XA 2 5,576,000& =14 5,576
Il 2,788
Al 2,788
g9 JCAIY 2 5,566 5,100 466
J| 2,783
= 2,783
307 QIztold 5,566 5,100 466
J| 2,783
= 2,783
01 dz2H =4l 5,566 5,100 466
| 2,783
= 2,783
= Ol & 5,566 5,100 466
J| 2,783
= 2,783
OdY &AL 2 5,566,000 *14] 5,566
J| 2,783
& 2,783
MEHA SA HSF L 222X 2,520 2,520 0
J| 1,260
= 378
Al 882
307 gIztold 2,520 2,520 0
Il 1,260
& 378
Al 882
02 QUAHABMASEX 2,520 2,520 0
| 1,260
= 378
Al 882
= 0l & 2,520 2,520 0
J| 1,260
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S AN
HzH: AQIQ] #=2s AU A(BEAH/EAHZ)
Ciolr AEYE AL CAl BSD CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;lﬁ% HRE2
& 378
Al 882
OMZHA NE2ZAIN2 29
2,520,000& * 104 A 2,520
Dl 1,260
== 378
Al 882
ZNAE R S FHAAHS &2 2K 71,022 25,564 45,458
Dl 35,511
== 17,755
Al 17,756
201 2 Bt2 A Y| 2,870 0 2,870
J| 1,435
== 717
Al 718
01 AtER2t2lyl 2,870 0 2,870
J| 1,435
== 717
Al 718
= 0ff &F 2,870 0 2,870
Dl 1,435
= 717
Al 718
OLOZH[42A SRS M=
2,870,000 x 14l 2,870
J| 1,435
== 717
Al 718
307 QI12t01 A 68, 152 25,564 42,588
Dl 34,076
== 17,038
Al 17,038
01 =P = H| 68, 152 25,564 42,588
J| 34,076
== 17,038
Al 17,038
= 0l & 68, 152 25,564 42,588
Dl 34,076
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SA EA M
HI: ADIOl =S AT A(B2AH/ o)
Ciolr AEYE AL CAl BSD (2o ae
A BB (BH) - HEAY - B (ggz::) ﬁ%fgﬂﬁﬂ nEEn
& 17,038
Al 17,038
O @IS ALAH =22 HEH|
22,4003 *855H 19,152
Dl 9,576
== 4,788
Al 4,788
OLolZsh MHEA 7,000& 7,000 49,000
Dl 24,500
1= 12,250
Al 12,250
Z S ASHT A} 6,748 9,800 N 3,052
Dl 3,374
= 1,687
Al 1,687
201 282 A H| 1,687 2,400 ANT13
J| 843
== 422
Al 422
01 At 22|yl 1,687 2,400 AT13
J| 843
== 422
Al 422
= Ol & 1,687 2,400 ANT13
Dl 843
== 422
Al 422
OZ8uY =22 M 1,687,000& * 14 1,687
Dl 843
== 422
Al 422
202 04| 1,400 1,200 200
J| 700
== 350
Al 350
01 =2UWAHb 1,400 1,200 200
J| 700
& 350
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EeE 47
PSR #HEst HATA(BA/EHAZ)
Ehel = 428 TA S| chelE A
. pel(3) - MSAY - Ba= o ) =5
=L HI Al 350
Ofl &F 1,400 1,200 200
Il 700
& 350
Al 350
e ASBIA L OfH]
70,0003 x2H 103 1,400
Il 700
= 350
Al 350
grztol 3,661 6,200 A2,539
J| 1,831
& 915
Al 915
2L A= HI 3,661 6,200 A 2,539
| 1,831
o= 915
Al 915
= 0l & 3,661 6,200 A2,539
J| 1,831
= 915
Al 915
ZHHE L DI 2 1,974,000 14 1,974
Il 988
= 493
Al 493
ZAAL E E=H 1,687,000& 14 1,687
I 843
& 422
Al 422
Y o & N 8,882 2,480 6,402
p] 4,441
& 2,220
Al 2,221
grz2tol A 8,882 2,480 6,402
ol 4,441
= 2,220
Al 2,221
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244
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2600

& 1 = 0f 4 o
(I3 )
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5,400
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3 3r
< RO
= RO

8,882

4,441

Jl

2,220

H

2,221

Al

8,882
4,441
2,220

Il

H

2,221

Al

8,882
4,441
2,220
2,221

Il

WH

Al

5,644

2,822
1,411
1,411

Il

H

Al

844

422

Il

H

211

Al

844

422

Il

21

H

21
844
422
211

Al

Il

H

211

Al

844
422

Il

WH

Al

4,800

2,400

Il

1,200

H

Al

1,200

or
R
Y,

4

oK
4

ol

01
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H
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2l %894

1,110,250

o1
ol
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[0l
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SN BAA MY
ME: NS0l HEE HLTA(LA/2ACE)
thel: 2ggle H28 TA BED| (e &
S-S (BN) - ANRAY - BAS (o) ) HRE2
01 dz2H =4l 4,800 5,400 A 600
J| 2,400
& 1,200
Al 1,200
= 0l & 4,800 5,400 A 600
| 2,400
& 1,200
Al 1,200
OgzJ&a sk ¥ ZHEX 538l
A& 40,000 x120H 4,800
| 2,400
= 1,200
Al 1,200
oIl ZeE &l (alzelzIa) 34,370 33,858 512
J| 34,370
307  QI2tol A 34,370 33,858 512
J| 34,370
02 CIZtAMANSEX 34,370 33,858 512
J| 34,370
= 0l & 34,370 33,858 512
| 34,370
OZsiae ME2tS AP 12H & 23|
X3 2,864,150 x1H x123] 34,370
J| 34,370
HAA Zeiaue| XNA(ZHAEH) 21,324 0 21,324
| 10,662
Al 10,662
101 o144l 21,324 0 21,324
| 10,662
Al 10,662
04 JI2ZtHIZ22NHSE* 21,324 0 21,324
J| 10,662
Al 10,662
= 0l & 21,324 0 21,324
| 10,662
Al 10,662
OPIE=1=1 1,683,500 x 1% «8 & 13,468
J| 6,734

- 662 -




SN BA MY
B AQI0] BEE AVEA(FA/H2A9 )
el HEols A2AB CAl 9SD) CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
Al 6,734
O= 4l 130,000 » 1 «8 & 1,040
J| 520
Al 520
O+ 40,0003 *1H 83 320
J| 160
Al 160
O¥&Es+Y 200,000 *1H *23| 400
J| 200
Al 200
Oz 300,000 x 1«88 2,400
p) 1,200
Al 1,200
OsZ 0l 60,000 »1H 5«8 2,400
Il 1,200
Al 1,200
o=8as3z 73,0002 x1H ~8& 584
| 292
Al 292
(OFaAgsh= 50,000& x1H «8 & 400
J| 200
Al 200
oung:sd 20,000& x1H «8 & 160
J| 80
Al 80
Ot 15,000 » 1«8 & 120
J| 60
Al 60
O}INIEH 4,000 x1H +8& 32
J| 16
Al 16
SAA FHET AP L NE X 14,116 96,113 A 81,997
J| 7,058
& 3,529
Al 3,529
307 gIztold 14,116 96,113 A 81,997
Il 7,058
& 3,529

- 663 -




A A M
B ARIO| WES AAEA (R
Er9l: MEQlE AV TA BS CERT
A - BB el (31) B (o) ) Rz
307  SI2t0l & Al 3,529
01 A=Y =4l 14,116 96,113 A81,997
J| 7,058
& 3,529
Al 3,529
= 0l & 14,116 96,113 A81,997
| 7,058
& 3,529
Al 3,529
OBAHx BTt
(2XtZ &) 14,116
J| 7,058
= 3,529
Al 3,529
HE BH4A S 0l8A s 155,000 198,000 A 43,000
2 103,333
& 25,833
Al 25,834
405  RHAHHESHI 155,000 198,000 A 43,000
= 103,333
= 25,833
Al 25,834
01 XaLEEFHSHI 155,000 198,000 A43,000
= 103,333
& 25,833
Al 25,834
= 0l & 155,000 198,000 A 43,000
= 103,333
& 25,833
Al 25,834
Os0HE BHA S Y 2H2=
el P 155,000, 000& =14 155,000
= 103,333
& 25,833
Al 25,834
oz dd E=22Al 18,200 18,200 0
| 18,200
oz ALE H=22Al 18,000 18,200 A 200
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2H: EAY MY
HE: ADIO| QFE ABOABUR(H2/ABO AOH)
Sl ABOIFE otF (B9 @2
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES Sl T BlRE2
SEEEESEEE RS
70,0002 +8% *23] 1,120
OBIINZR2EXTAAS B2
100,0002! +8% +23] 1,600
Ol =E At
8,000% +4% +7 » 122 2,683
OolotADEX 0F2t M AL
8,0002 *3% 62 » 122 1,728
OUSD B3 == 822 M
1,0002 *1,5000H %25 3,000
OFIIIIE HH 7 4 B K=
100, 0002 *4JH 400
OFIIIE 8YS= 44 EXNE HE
45,0002 *104 450
Ol S %42QdE HH 222 A
x 9002 +1,0004 900
OBE oIE)|2 oogs 29 2%
1,0002 %5005 +23] 1,000
Ocloty8los HESAMHSY ADE
285,0002! x23] 570
OANSl MEANMZ 2 SSHA LT A
bl 100,000 353! 3,500
ONHAME 2 SSHA 1T 428
10,0002 *1007H 1,000
Omol2%E SIet K2t 285,000 +122 3,420
OWCIZ HAEY HE 22 2 42 X
x 100, 0009 +30% 3,000
OWCIZ HAEE HE A28 7
45,0002 x30% *30H 4,050
OWCIZ HAEY HA ASEE 7
10,0002 %155 *57H 750
OWCIZ HAEY HA AE ME 7
19,0002 +10% *254 4,750
ORNSHHEAI 22F i
254, 54021 %330 £ 8,400
03 A2 11,000 11,000 0
=0 &t 11,000 11,000 0
OR53l =&Al MCIZ HAEY Tz
5,000, 0002 *14] 5,000
O®IIJIZ MYEZE Q=20 sl W
6,000, 0002 *14] 6,000
202 o4l 2,220 2,220 0
01 LAY 2,220 2,220 0
= Ofl &F 2,220 2,220 0
Oolts BS DRSS 60,0008 *2% x4 480
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2H: EAY MY
HE: ADIO| QFE ABOABUR(H2/ABO AOH)
Sl ABOIFE otF (B9 @2
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES HE o) (713 o) Hns2
OSa ostetzrsl Ng 60,0008 *2% «22 240
OOb & 7yl A& BSCs
60,0008 *1% 152 900
O239293s ¥ Bl B
60,0002 x2% *53] 600
01 Ypreaz 1,560 1,420 140
12 JlER A 1,560 1,420 140
= 0l 4t 1,560 1,420 140
ODI%E YUNEY S|
35,0008 *8% * 12 +23] 560
OAHIX BIIDNIZAE HSH
50,0002 *5% *4 3] 1,000
402 PIATZOIH 198,750 0 198,750
= 180,000
Al 18,750
01 QIZFRHZ AR R Z (XHHITHR ) 18,750 0 18,750
=0 & 18,750 0 18,750
ORSHZEA| 24Al B &3
2,500, 0002 * 15CH +50% 18,750
02 QITEALRE(OIF ) 180,000 0 180,000
= 180,000
=0 & 180,000 0 180,000
= 180,000
OS2 R 10054 JlY AAR 83X
100,000, 0008 *14} 100,000
= 100,000
Oolz® 10054 Iy Hedgs &%
50,000, 000! *141 50,000
= 50,000
Ocl2® 224 JIS2Y  30,000,0008 *14] 30,000
= 30,000
AN A 2tel 9,304 12,524 A 3,220
201 Yur2YHl 6,304 7,304 A1,000
01 A2l 6,304 7,304 A1,000
=0 &t 6,304 7,304 A1,000
OMBAMAR ST OHA Y|
L0002 +32 +82 + 122 2,304
OMES oy =2 289
200, 00021 207 £ 4,000
203 YLEYI 3,000 3,000 0
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SM: BASAMY
HE: AIRIO| OHFEH AEOGE R (BA/ABOIGOHN)
9l AlBoltE OIE B CERE
- - = Ofl &K & 0 oA =
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
03 AHMZZYLEZY] 3,000 3,000
=04 3,000 3,000 0
OMES ML BEANY AR5
3,000,0002 *14! 3,000
SALB ALY 78,846 82,820 ~3,974
201 syl 37,120 37,120 0
01 At 2r2ltl 37,120 37,120 0
=0 37,120 37,120 0
ORHYSAE 2 AMSIH EXNT HF
100,000 %3074 £ 3,000
O2algl AYol DS 2HHl B2 LA
~g 500,000 *8% *33l 12,000
OAMALTA MOARRS 4+
100, 0008 *52 +33] 1,500
OMT SARS SAR 4= M
30,0001 ¥3457H £ 10,350
OES:ol BHENZ SAS 2Y
50,0002 %507} 23l 5,000
OUNESSANY FAMBE HH
45,4002 *507H A 2,270
O/MSSH 24 NASE M=
15,0002 +2007H £ 3,000
206 M2 3,000 3,000 0
01 MYl 3,000 3,000 0
=0 3,000 3,000 0
QMY MBI ATHE(L£25)7Y
200,000 * 153 3,000
301 LsBAD 15,226 15,200 26
09 AAHIZAZ 2,002 2,066 2
=004 2,092 2,066 26
OAHIRMEY SASENM HE ARISS
=3 296,000 *23] 592
OYESAIIALE BIEH N
1,500,000% *1JH & 1,500
12 JlEtR A 13,134 13,134 0
=204 13,134 13,134 0
ORYSAH +TRNA(SSAS)
50,0002 * 1574 A * 1274 2 9,000
ORESAE MYJI2E XD
1,0602 *150% «26IH 4 4,134
401 AEHILRHE 6,000 10,000 £4,000
01 A&l 6,000 10,000 ~4,000
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2H: EAY MY
HE: ADIO| QFE ABOABUR(H2/ABO AOH)
CHel: AEOIE otE e (B9 @
x s . O &t o8 & & 0] Ak o -
SN (SA) - HEMY - BES (Z= o) (713 o) Hns2
= 0l & 6,000 10,000 4,000
OSAE HEAZH &
2,000,000 %304 2 6,000
402 PIAT RO 17,500 17,500 0
01 QIRFRHZ AR Z (XHHITHR ) 17,500 17,500 0
= 0l & 17,500 17,500 0
OAMY L SHZAAE N A
4,000,000 *57H A *50% 10,000
OAMAL ANEH OIS XIR A
2,500,000 *37H 4 *50% 3,750
OSIMe A EHIIAE S
2,500, 0002 *3JH 2 *50% 3,750
IEAM A e 52,972 52,315 657
201 Yur2gyl 25,592 25,592 0
01 AtR2lY| 25,592 25,592 0
= 0l 4t 25,592 25,592 0
ORERHIAT DS S A
10,0002 x2 2 *43] 800
ORSDBIUN AMDS DU M
6,0002 x350% 2,100
OSANYI HI X AXE
350,000 *1CH*143] 4,900
OBAE SUSARS LEE 425 7
o 200,0002 * 1] 200
OZZAMAMYIA BOE HE
100,0002 * 1274 4 1,200
OZEAMMEIA HS4ls BT M
300,0002 1074 £ 3,000
OZEoAMe AF  J2DS SN+
600,0002! 83! 4,800
OZZESMY 2E - J2DS A2E 2Y
500,0002 83l 4,000
OZEAMAL S2(0FAEY) AL
8,0002 *3% x92 » 122 2,592
OREIRBSsA TXB(AR0] Ta)
100,0002 *207H 4 2,000
202 Oft 1,620 1,620 0
01 =0l 1,620 1,620 0
=0l & 1,620 1,620 0
OSENYI ZH 2= 60,0008 x22 43 480
OZEAM2IANY =T 0ft|
60,0002 *3% *33] 540
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SH: BASAMDY
HE: AIRIO| OHFEH AEOGE R (BA/ABOIGOHN)
9l AlBoltE OIE B CERE
x s . O &t o8 & & 0] Ak o -
SN EZH .- (3H) - HRAY - BE=2 (Z= o) (713 o) HwES2Z
OORIOIS A NAME A =2 Oft]
60,0002 x224 x23| 240
ONRRE BEHs 60,0002 *3% +23] 360
206 Tl 2,000 1,680 320
01 M2l 2,000 1,680 320
= 0fl &F 2,000 1,680 320
ONRREINS AL 29 W2 7
20,0002 * 1074 £ *103] 2,000
301 ysrEaa 23,760 12,510 11,250
09 BAAHIRAS 420 420 0
= 0f o 420 420 0
ONDREINZSAC B3 BT 24
7,000 *30% x23| 420
12 JlEre 23,340 12,090 11,250
=0 A 23,340 12,090 1,250
ok SO AIR B S
50,0002 7 202 7,000
oL Zote S|
50,0001 * 152 152! 11,250
03 Sas FAZET
2 1,080 *3004 507 4 1,590
ONZREINZ AT BOIX 54 2L DS
bl 10,0002! *358§ *103] 3,500
ol&lol JI1s 2y 14,000 7,000 7,000
= 7,000
= 3,500
Al 3,500
301 YPPAI 14,000 7,000 7,000
= 7,000
= 3,500
Al 3,500
12 JlEt2aa 14,000 7,000 7,000
= 7,000
= 3,500
Al 3,500
= 0f & 14,000 7,000 7,000
= 7,000
= 3,500
Al 3,500
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SM: AN
M AIDIO| OHEE AEOOEDR|(H/ABOOIN)
Cr9l: AEOIOE orE e CER-E
SH-EH. (AN NRANY - B (o) ) HDE2
301 detEaz = 862
= 137
Al 726
12 JIEt2 &3 1,725 1,683 42
= 862
= 137
Al 726
= 0l & 1,725 1,683 42
=2 862
& 137
Al 726
OALION ZAIE 23H| 862,500 *23| 1,725
=2 862
& 137
Al 726
gsHE S AIF22 2 5,304 5,904 A 600
= 2,652
Al 2,652
202 Ol bl 300 600 A 300
= 150
Al 150
01 3L Y 300 600 A 300
= 150
Al 150
= 0l & 300 600 A300
= 150
Al 150
OAH2dIIsalsE =H Gl
30,0003 x 18 %103 300
= 150
Al 150
206 M= Hl 5,004 5,304 A 300
= 2,502
Al 2,502
01 M=l 5,004 5,304 A 300
= 2,502
Al 2,502
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SM: AN
HzH: AIQIQ] QHAEH AIEO|AZ AR (BH/AIZ O QFotA)
CH9l: AEOE OIE B CERT
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
= 0l & 5,004 5,304 A 300
= 2,502
Al 2,502
OAdLIIsAS £ ME4dl 500,400 *x103] 5,004
= 2,502
Al 2,502
HelolZ2a 22 XNJEH 29 700,000 700,000 0
= 350,000
= 175,000
Al 175,000
307 QIz2tol & 700,000 700,000 0
= 350,000
== 175,000
Al 175,000
05 QItRE= 700,000 700,000 0
= 350,000
== 175,000
Al 175,000
= 0l & 700,000 700,000 0
= 350,000
== 175,000
Al 175,000
O sA 2 XNALdEH 24
700,000,000& * 14! 700,000
= 350,000
== 175,000
Al 175,000
NEs32s EE2HMAXNE AFE 1,000 1,000 0
Dl 1,000
201 282 A | 1,000 1,000 0
J| 1,000
01 Ar®2telt] 1,000 1,000 0
J| 1,000
= 0l & 1,000 1,000 0
Dl 1,000
OoXNdgs=29=2 E2MA XN
200,000& 53| 1,000
Dl 1,000
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SM: AN
HzH: AIQIQ] QHAEH AIEO|AZ AR (BH/AIZ O QFotA)
Cr9l: AEOIOE orE e CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
SAME 3 HE=2S 11,568 11,534 34
== 5,784
Al 5,784
201 B2 A Y| 11,568 11,534 34
== 5,784
Al 5,784
01 AR 22yl 11,568 11,534 34
== 5,784
Al 5,784
= 0l & 11,568 11,534 34
== 5,784
Al 5,784
O3t &2s 88 22 ¢
4,414,0002! <% 8,828
= 4,414
Al 4,414
ORMS2SH Eoit=x2 137,000& *2024 2,740
== 1,370
Al 1,370
20198 ZZ 2 A2 XKHE AlE2Y 50,000 0 50,000
= 25,000
= 12,500
Al 12,500
101 jSlals] 30,000 0 30,000
= 15,000
== 7,500
Al 7,500
04 JIZHZ2Z2NSE S 30,000 0 30,000
= 15,000
& 7,500
Al 7,500
= Ol & 30,000 0 30,000
= 15,000
== 7,500
Al 7,500
OZ2Z2S A 22X HE o12iH]
2,500,000 x2H 6l & 30,000
= 15,000
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2N EARA4 0
o BENO £A HEISH HHMN(SHUND/2HUBR YY)
Ciol: ADIRTE AB HENY T GLEL!
SH-EH. (AN NRANY - B (o) ) HDE2
REZHAMY 4 40,000 40,000 0
307 QIztol M 40,000 40,000 0
02 QIZHBAAMNGPEX 40,000 40,000 0
= 0ff &F 40,000 40,000 0
O S|EIHAEE M= 40,000,000& 14 40,000
HE2HZH (B M) (IEH/DIIE 366,174 366,917 AT43
J| 6,538
Al 359,636
o138 2| 113,183 124,431 AN 11,248
Il 6,538
Al 106,645
ol 24A | 100, 107 90,027 10,080
101 ol44| 100, 107 90,027 10,080
01 2= 100, 107 90,027 10,080
= 0ff & 100, 107 90,027 10,080
OAIZte 22
10,299 %27 30 Al 2t 128 100,107
oleE2HY|(BAHA 2 &2l) 13,076 0 13,076
Il 6,538
Al 6,538
101 o244l 13,076 0 13,076
Il 6,538
Al 6,538
03 RJHAZ2HE S 13,076 0 13,076
| 6,538
Al 6,538
= 0ff & 13,076 0 13,076
Il 6,538
Al 6,538
OJlas 1,700,000 x 1 4 & 6,800
Il 3,400
Al 3,400
OYE s otdl 800,000& x1H x 13| 800
I 400
Al 400
(OFSEEal=y 399,000 x1H 43 1,596
J| 798
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SM: AN
Mz HMSAHH (EHAM)(IIEH/DIIE
Erol: ple 2oyl CER-E
SN BB S(BH) - MBAY - BaS ggi) @(ijf;ﬁ% HRE2
Al 798
OREg=e 40,0003 *1H x4 & 160
Dl 80
Al 80
(OF=F1sl! 130,000& *1H x4 & 520
J| 260
Al 260
O&s& 0l 60,000 x1H x5 x4 2 1,200
J| 600
Al 600
(@)=h=-N-1 200,000& x1H x4 & 800
Dl 400
Al 400
O&E &3 1,200,000& *13] 1,200
Dl 600
Al 600
=3Hl 252,991 242,486 10,505
ol = 2| 252,991 242,486 10,505
201 282 A Y| 168,951 164,806 4,145
01 Ar®2telt] 48,516 42,951 5,565
= O & 48,516 42,951 5,565
OIS AR E St 20,000& x36H x12& 8,640
OB2AHAS SF&EA &N & A2F 7Y
500,000& x12& 6,000
OB2AA XE22AD| AISE
20,000& * 10 A %128 240
Otz & EXx7s= 300,000& «12& 3,600
OMYIISSHH(H2H50L) 25 7
10,600& x5 S*12& 636
O#HHFMARH EH & ¢
800,000 x12& 9,600
OBAHILRZX 22 2
1,000,000& *12& 12,000
OBAHAS &I A2l
190, 000& ~12& 2,280
O=2 AR F2(AL) 22,000 * 102t A x12& 2,640
O=2AMEX T2 (A3) 27,000& x5t A %128 1,620
O=2AMNEXN 2L (B5) 21,000& 52t A %128 1,260
02 =324l 120,435 121,855 AN 1,420
= 0l & 120,435 121,855 N 1,420
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SH: SAAM DY
M #FHSAAY (AR MD)(OIEH/IIE)
ool o= CERE
- - o Ofl &K & E T 0l oF A =
SN EZH .- (3H) - HRAY - BE=2 (Z= o) (713 o) Hns2
OHALE BBR2 Y% 5,789,5002 +128 69,474
ONEXA, 28Z2, NSHBANZ 2,000
CEEP = 100, 0002 *8CH %23 1,600
OBAYFYLRE SIILWR
2, 1308 %2,300 4,899
OBAHWALEN UYWL
3302 %2, 3505 * 122 9,306
OUEsS(1H) R
1,20021 x200¢ *1CH* 122 2,880
OEs2(40) RFY
1,2002 x200¢ *4CH 122 11,520
OEg58(20) =
1,2002 +180¢ *2CH 122 5,184
043 2(10) RFYI
1,20021 +180¢ *1CH* 122 2,592
OPSR(1H) RF
1,2002 x200¢ *1CH* 122 2,880
OZEXY +2l&Y L AXY
150,000 *9CH %63 8, 100
202 Oft] 69,600 64,800 4,800
01 =Uoibl 69,600 64,800 4,800
=0l 4 69,600 64,800 4,800
Ol 2Y L4801t
20,0002 *29% 102 122 69,600
203 AREXY 14,440 12,880 1,560
01 J2REALEFY] 3,900 3,900 0
=0l 3,900 3,900 0
O=ALH 3,900,000 * 12 3,900
02 HEIIMALEZY] 5,500 4,120 1,380
=0l 5,500 4,120 1,380
ONANKBA S AIIEE
5,500, 000! * 12! 5,500
04 BARIALEFY 5,040 4,860 180
=0l 4 5,040 4,860 180
O=AN2Y 223l 420,000% *122 5,040
WSS (AR M) (22A/A B FotH) 74,070 74,070 0
TESIEPES 74,070 74,070 0
LH = 24 2 74,070 74,070 0
701 JIEBHERED 74,070 74,070 0
02 BIUSHINIHEHES 74,070 74,070 0
=0 74,070 74,070 0
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